restart
Ecua == y"+y'+y=0

2
Ecua = d—z y(x) + 4 y(x) +y(x)=0 (€))
dx dx
SolGral = dsolve(Ecua)
1 1
- X - X
SolGral :=y(x)= Cle 2 sin(% \/?x) + C2e 2 cos(% \/?x) )
EcuaCarc == m*+m+1=0
EcuaCarc:=m* +m~+1=0 A3)
Raiz := solve(EcuaCarc) : Raiz[1]; Raiz[2]; a := Re(Raiz[1]); b := Im(Raiz[1])
1 1
> t5 /3
1 1
;5 /3
Y
' 2
b= 3 @
SolGralDos = y(x) = _Cl0-exp(a-x)-cos(b-x) + C20-exp(a-x)-sin(b-x)
1 1
- X -= X
SolGralDos =y(x) = Cl0e 2 cos(% \/Tx) + C20e 2 sin(% \/?x) S)
SolGral
1 1
B oY1 ot 1
y(x)=_Cle sin B V3 x + C2e cos > V3 x (6)
restart
Ecua :==y"-4-y'+4-y=0
& d
Ecua = — —4 | — 4 =
ua =~ y(x) (4 v )+t =0 ™
SolGral = dsolve( Ecua)
SolGral =y(x) = CIl "+ C2e**x ®)
EcuaCarac :=m* —4-m+4=0
EcuaCarac :=m* —4m+4=0 (&)
Raiz = solve(EcuaCarac)
Raiz :=2,2 10)

SolGralDos = y(x) = _Cl10-exp(Raiz[1]-x) + C20-x-exp(Raiz[1]-x)
SolGralDos :=y(x) = _Cl10 &+ C20x & (11)



